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Observable

Data within bounds:
(Observable) = 0.7872 + 0.0044  [Nentries = 9399]

All data:
(Observable) = 0.7872 + 0.0044  [Nentries = 9399]
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-1 —0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.7285 + 0.0030  [Nentries = 6711]

All data:
(Observable) = 0.7285 + 0.0030  [Nentries = 6711]
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3 polarization: -1 -1 -11

1|

-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.330 + 0.0055  [Nentries = 4801]

All data:
(Observable) = 0.330 + 0.0055  [Rentries = 4801]




#evt /bin

1x10*
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-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.6134 £ 0.0014  [Nentries = 49310]

All data:
(Observable) = 0.6134 + 0.0014  [nentries = 49310]




#evt /bin
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-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.144 + 0.0038  [Nentries = 17664]

All data:
(Observable) = 0.144 + 0.0038  [Nentries = 17664]
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-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.223 £ 0.016  [Nentries = 1699]

All data:
(Observable) = 0.223 +0.016  [nentries = 1699




#evt /bin

500 —

400 —

300 —

200 —

100 —

0

7 polarization: -1 -1 1 -1

-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.328 £ 0.0054  [Nentries = 4946]

All data:
(Observable) = 0.328 + 0.0054  [Rentries = 4946]
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-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = —0.177 £ 0.0076  [Nentries = 2626]

All data:
(Observable) = —0.177 £ 0.0076  [Nentries = 2626]




#evt /bin

400 —
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9 polarization: -1 -1 11

-1 —-0.5 0

Observable

Data within bounds:
(Observable) = —0.503 £ 0.0076  [Nentries = 2844)]

All data:
(Observable) = —0.503 £ 0.0076  [Nentries = 2844)]
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10 polarization: -1 1 -1 -1

#evt /bin
150
100 —
50 —
0
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = 6.2 x 107* £ 0.0094  [nentries = 2309

All data:
(Observable) = 6.2 x 107 £ 0.0094  [Nentries = 2309
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-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.4968 + 0.0032  [Nentries = 14387]

All data:
(Observable) = 0.4968 + 0.0032  [nentries = 14387]
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-1 —0.5 0 0.5

Observable

Data within bounds:
(Observable) =0+ 0 [Nentries = 0]

All data:
(Observable) =0+ 0 [Nentries = 0]
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13 polarization: -1 1 0 -1

#evt /bin
2000 —
1500 —
1000 —
500 —
0 i
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = —0.5034 £ 0.0033  [Nentries = 14168]

All data:
(Observable) = —0.5034 + 0.0033  [Nentries = 14168]
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14 polarization: -1 1 00

#evt /bin
3000 —
2000 —
1000 —
0
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = —0.0028 + 0.0023  [Nentries = 38401]

All data:
(Observable) = —0.0028 + 0.0023  [Nentries = 38401]
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—

-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.4943 £ 0.0033  [Nentries = 14273]

All data:
(Observable) = 0.4943 + 0.0033  [nentries = 14273]
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-1 —0.5 0 0.5

Observable

Data within bounds:
(Observable) =0+ 0 [Nentries = 0]

All data:
(Observable) =0+ 0 [Nentries = 0]
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17 polarization: -1 110

#evt /bin
2000
1500 —
1000 —
500 —
0 I e
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = —0.5043 + 0.0032  [Nentries = 14079]

All data:
(Observable) = —0.5043 + 0.0032  [Nentries = 14079]
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18 polarization: -1 111

#evt /bin
200 —
150 —
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-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = —0.0067 £ 0.0091  [Nentries = 2383]

All data:
(Observable) = —0.0067 £ 0.0091  [Nentries = 2383]
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#evt /bin

19 polarization: 1 -1 -1 -1

500 —
400 —
300 —
200 —
100 —
o [ B
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = 0.560 + 0.013  [Nentries = 1824]

All data:
(Observable) = 0.560 + 0.013  [nentries = 1824]
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#evt /bin
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20 polarization: 1 -1 -1 0

- |

-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.237 £ 0.0094  [Nentries = 4229]

All data:
(Observable) = 0.237 +0.0094  [nentries = 4229
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21 polarization: 1 -1 -11

#evt/bin
800 —
600 —
400 —
200 —
0
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = —0.0692 + 0.0044  [Nentries = 9324]

All data:
(Observable) = —0.0692 + 0.0044  [Nentries = 9324]
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#evt /bin
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22 polarization: 1 -1 0 -1

-1 —0.5 0

Observable

Data within bounds:
(Observable) = 0.5288 & 0.0049  [Nentries = 10226]

All data:
(Observable) = 0.5288 +0.0049  [nentries = 10226]
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23 polarization: 1 -1 00
#evt /bin

1500 —

1000 —

500 —

0 m

-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = 0.273 £ 0.0075  [Nentries = 7618]

All data:
(Observable) = 0.273 + 0.0075  [Nentries = 7618]
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#evt /bin
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24 polarization: 1 -1 0 1

1 [ ]

-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.231 £ 0.0093  [Nentries = 4309]

All data:
(Observable) = 0.231 +0.0093  [Rentries = 4309
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25 polarization: 1 -1 1 -1

#evt /bin
1x10%
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2000 —
0 { 11 |
—1 —0.5 0 0.5
Observable

Data within bounds:
(Observable) = 0.6610 + 0.0012  [Nentries = H0639]

All data:
(Observable) = 0.6610 + 0.0012  [neptries = 50639
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#evt /bin
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-1 —0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.5248 £ 0.0049  [Nentries = 10048]

All data:
(Observable) = 0.5248 +0.0049  [nentries = 10048]
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0L S
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = 0.552 + 0.013  [Nentries = 1783]

All data:
(Observable) = 0.552 +0.013  [nentries = 1783]
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Observable

Data within bounds:
(Observable) = —0.509 + 0.0076  [Nentries = 2865]

All data:
(Observable) = —0.509 + 0.0076  [Nentries = 2865]
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29 polarization: 1 1-10

#evt /bin
300 —
200 —
100
0 |1
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = 0.205 £ 0.016  [Nentries = 1676]

All data:
(Observable) = 0.205 4+ 0.016  [neptries = 1676]
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#evt /bin
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-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.340 £ 0.0055  [Nentries = 4748]

All data:
(Observable) = 0.340 + 0.0055  [Nentries = 4748]
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31 polarization: 110 -1

#evt /bin
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-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = —0.163 + 0.0077  [Nentries = 2580]

All data:
(Observable) = —0.163 £ 0.0077  [Nentries = 2580)]
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32 polarization: 1100

#evt /bin
2000 —
1500 —
1000 —
500 —
0
-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = 0.151 + 0.0038  [Nentries = 17524]

All data:
(Observable) = 0.151 +0.0038  [Nentries = 17524]
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33 polarization: 1101

#evt /bin
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Observable

Data within bounds:
(Observable) = 0.7264 + 0.0031  [Nentries = 6686]

All data:
(Observable) = 0.7264 + 0.0031  [Nentries = 6686]
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#evt /bin
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34 polarization: 1 11 -1

-1 —-0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.335 + 0.0054  [Nentries = 4779]

All data:
(Observable) = 0.335 + 0.0054  [Rentries = 4779
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35 polarization: 1110
#evt /bin

1x10*
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-1 —-0.5 0 0.5
Observable

Data within bounds:
(Observable) = 0.6134 + 0.0014  [Nentries = 49722]

All data:
(Observable) = 0.6134 +0.0014  [neptries = 49722
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-1 —0.5 0 0.5

Observable

Data within bounds:
(Observable) = 0.7804 + 0.0045  [Nentries = 9420]

All data:
(Observable) = 0.7804 + 0.0045  [Nentries = 9420]
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